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ANSWER QUESTION ONE AND ANY OTHER TWO QUESTIONS

SECTION A
Question one

A sample was taken from residents of town X and the distribution of the level of education was as follows; primary school and below 100, secondary 120, diploma 80 and degree and above 50. Organize this data in a frequency distribution table, hence draw a bar chart and pie chart and make two comments about the distribution.





        (6 marks)
(d)i.  Define the term correlation as used in social statistics; hence differentiate between perfect 
        positive correlation and perfect negative correlation

            
        (3 marks)
ii. The follow data show the distribution of scores of various units a student and their respective weights used when ranking the students. Compute weighted mean.
 
                    (2 marks)

	Unit 
	Scores (Xi
	Weight (Wi)

	Statistics
	70
	1

	Psychology
	62
	4

	Philosophy
	54
	4

	Macroeconomics
	70
	2

	Development economics
	60
	5


iii. Given the following set of data obtained from a sample by a NGO, the data represents the order of size of the shoes required by the population under consideration. Identify the mode.
              11, 3, 4, 5, 8, 10, 5, 8, 5, 8, 9, 5, 9, 8, 8, 9, 11, 8, 7, 10, 3


          (2mark)


 (e) i. Suppose two babies are selected at random from a clinic and the gender of each baby  
  identified. If two babies are chosen at random, identify or list the sample space
          (2mark)
   ii. suppose that it has been discovered that a set of 10 food containers is known to contain seven (7) good quality food (G) and three (3) contain bad quality food (B). Given that two containers are selected randomly without replacement, draw a tree diagram and find the probability that:-
i. Both containers are of good quality 

ii. Both containers are of bad quality

iii. One is of good quality and the other is of bad quality


        (5 marks)

SECTION B

Question two
i. The following data refers to the amount of money spent by 10 customers who visited a super    
    market in certain year and their social class index.
	Amount spent in supermarket (X) Kshs in 1,000s
	57
	54
	49
	42
	38
	32
	30
	24
	20
	18

	Social class index (y)
	113
	111
	107
	103
	100
	96
	94
	84
	74
	76


     (a) Calculate correlation coefficient and interpret the result


        (7 marks)
     (b) Calculate the coefficient of determination




        (3 marks)
ii. Find the equation of the regression line for the data below which is obtained in the study of age and blood pressure, hence predict the blood pressure for an individual aged 50 years. (10 marks)
	Subject
	A
	B
	C
	D
	E

	Age (x)
	43
	48
	56
	61
	67

	Pressure (y)
	128
	120
	135
	143
	141


Question three
i. For randomly selected Nairobi residents, the number of times they visit a clinic frequency distributions  
   was obtained as follows
	Classes (number of times one visit clinic)
	3-5
	6-8
	9-11
	12-14
	15-17
	18-20

	Frequency
	9
	12
	11
	6
	4
	3


Using the table above:

(a) Draw a Histogram and an Ogive curve and comment about the drawings 
(8 marks)
(b) Calculate mean








 (4 marks)

(c) Find median class and median






  (4 marks)

(d) Find the modal class and mode






  (4 marks)

Question four
i. The number of people (X) in a lift with a capacity of 6 people follows the pattern below
	Number of people (X)
	1
	2
	3
	4
	5
	6

	Probability [P(X)]
	0.5
	0.3
	0.1
	0.05
	0.03
	0.02


  From the above distribution, what is the probability that:- 
(a) At most  three people are in the lift 




        (2 marks)

(b) Less than 3 people
 are in the lift





        (2 marks)

(c) At least 3 people are in the lift





        (2 marks)

(d) Between 2 and 5 people are in the lift 




        (2 marks)

ii. Highlight two features of a binomial distribution




        (2 marks)
iii. A bag contains 50 clothes, 13 blue in colour, 10 red in colour and 27 yellow in colour. A cloth is picked without replacement. A 2nd cloth is picked in similar way. 
(a) Use tree diagram to illustrate the simple space of this experiment 

        (4 marks)

(b)  Find the probability of the first being red and second yellow 
                    (2 marks)
(c) Find the probability that the two clothes picked are blue


        (2 marks)

(d) Find the probability that  the two clothes picked are yellow  
                    (2 marks)

Question five

i. The data below show the weights of a sample of 45 students taking social statistics.

 40, 41, 40.5, 42, 52, 53, 56, 57, 53.5, 58, 60, 51.6, 58.2, 53.6, 57, 56, 52, 53, 61, 62, 67, 65, 72, 73, 74, 53.4, 55, 56, 80, 81, 83, 85, 35, 38, 37, 39.5, 42, 42.5, 46, 47, 48, 49, 50, 51, 52
Let the number of classes be five i.e. K=5. Organize the data above into a frequency distribution table with a column of frequency, cumulative frequency, relative frequency, cumulative relative frequency.                                                                                                                         (10 marks)

ii. Using the following data 

           9, 7, 4, 8, 3,  5, 6, 10, 2, 11, 13, 14, 15  

Compute:

(a) The range








        (1 marks)

(b) Mean absolute deviation, variance and standard deviation

                    (9 marks)

